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3) b7 2 BA e FRel 246 B wAR A A ZE!
1. FEALE
1 955798
ol " o X g
- - , -
EHHS t7Hs H X (m) o A o = (m) H 1
gt A 192 X| 14,693.2 -
thEl
(BEsce e ChHel 9,573 -1 9,573 2CHA|
-1 357.8
-2 241.1
-3 241.1
-4 241.1
A 2,043.5
-5 2411
-6 241.1
-7 240.1
-8 240.1
-1 3574
s 1CHA
(O|F=R}EHX]) > 2651
B 1,332.4
-3 360.0
-4 3499
-1 2472
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-1 257.2
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-3 304.3
-4 395.1
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2l X H E(m)
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1¢t
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1¢t
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1t
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2tt
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I S
2| X|
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X H E(m)
142X 12,963.3 -
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-2 5994
=4 2,300.9 15H2
-3 592.3
-4 5224
-1 575.5
=d 1,199.1 1CHA|
-2 623.6
-1 1,086.7
g 1,546.3 1CHA
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-3 1,249
7,917 2CHA|
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-6 1,181




H H(m) H 1
¢l X H H(m)
181%| 22,999.3 -
22,999.3 1 22,999.3 1CH
2|
B Hm 2l % & (m) il =
162/X| 27,7386 -
-1 3,815
2 3,902.6
15,665.8 1EHA
-3 39112
4 3,960.5
1 1,230
2 922
-3 922
4 923
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Al Aol 12,072.8 © 1,230 1CHA
7 1,200.9
-8 923
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-10 930.9
11 910
12 1,031
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2l X H X (m')
22X 74264 -
=] 74264 1 2,942 1CHA|
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s A 33| 39,3417 -
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oA EA
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e oz & () ul 2
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F24
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